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General Instructions :

1.
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Candidate must write his/her Roll Number on the first page of the Question
Paper.

Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

For the objective-type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (A), (B), (C) or (D) and indicate your
correct answer in the Answer-Book given to you.

All the questions including objective-type questions are to be answered within
the allotted time and no separate time limit is fixed for answering objective-type
questions.

Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the

candidate.

Write your Question Paper Code No. 59/0S/2, Set on the Answer-Book.
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7. (a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
questions will be yours only.
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SCIENCE AND TECHNOLOGY
o va Wenfieh
(212)

Time : 2% Hours | [ Maximum Marks : 85

;2% T | [ QU : 85
Note : (i) Al questions are compulsory.

(i) Marks are indicated against each question.

few: () =t g sfEm 2
(i) TIh U % I I@h €A QU MU F

1. A resistance wire of length [is connected to a battery in the following ways.
In which case the current through the circuit will be maximum? 1

(A) The entire length of wire is connected to the battery.
(B) Half the length of wire is connected to the battery.

(C) A parallel combination of resistance is made by joining two equal
parts of the given wire, which is then connected to the battery.

(D) A parallel combination of resistance is made by joining four equal
parts of the given wire, which is then connected to the battery.

| TS 1 Uk TiqUdesh ar frel 9 @ = R 9 gaifva foen mn 21 few feufa
¥ ufuy ® varfed g9 arelt foegq-am siftesan grfi e

(A) AR <l gf omar gl @ waRi T R
(B) dR &I ameht ohams St % @y gAfa i TE R)

(C) feu 7w aR % & GHW 9T I GANAG HToh Th GHIL A o1 IS SR T,
@ 9 & @y wAfa e w2

(D) feu U dR % TR GWH HET Hh R dR S U GHIR HH H GISH SR T,
o st 9 gafsa e mm
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2. Which of the following are exothermic reactions?

(i) CaO + H,0 — Ca(OH),

(i) 2Pb(NO,), —2 5 2PbO + 4NO, + O,

(i) CaCO; —2% 5 CaO + CO,

(iv) CH,+ 20, —> CO, + 2H,0

(A) (i) and (i) (B) (ii) and (i)
(C) (i) and (iv) (D) (i) and (iv)

frafafega @ @ Sa-H sfufsamd Ssmadt €2
() CaO + H,0 — Ca(OH),

(i) 2Pb(NO,), — 1, 2PbO + 4NO, + O,

(iii) CaCO; —IN 5 CaO + CO,

(iv) CH,+ 20, > CO, + 2H,0

(A) () qum (i) (B) (i) quT (i)
(C) (Y adm () (D) (@) dA (iv)

3. Hamid is enjoying a ride on a merry-go-round which is moving with a

constant speed of 8 ms™!. It means that Hamid is

(A) at rest
(B) in accelerated motion
(C) moving with no acceleration

(D) moving with uniform velocity

B 8 ms™ 1 fd =1a & 9 ® 3ol W T & & AF< of & 8l 3961 39

2 fo @i

(A) fom © 2

(B) i@ wia o @

(C) femm womor & wfa & R
(D) THEHE a7 & wia § ?
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4. In the given wave, the wavelength is equal to

(A) AB% (B) BD %

(C) CE% (D) AE %

5. A stone of mass m falls freely vertically by a distance h. The decrease in
its potential energy will be

@) S’ B) mgh®

1
(C) Emgh (D) mgh 1
m GEMH H HIE TR Tk 9 § FWAE @ h 6 v 21 soeht ufow oot §
grft
@) Smh’ (B) mgh®

1
(C) Emgh (D) mgh
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6. Dwarfism results due to
(A) excess secretion of insulin
(B) excess secretion of growth hormone
(C) less secretion of insulin

(D) less secretion of growth hormone 1

ST T SR Bl B

(A) sHfeH o @@ s Afepar
(B) Ifg-THM o @& hl Afeehar
(C) TgfeW % @mE i HH

(D) Ffg-8MHM % & i HHT

7. By using suitable SI prefix, the measurement 5-:0x107'¥m can be
represented as

(A) 50 fm (B) 50 nm

(C) 50 am (D) 50 Em 1
U SI qEed T TN Hleh T 5-0x10718 m &1 fopm wifa fefya ferm S gepar

27

(A) 50 fm B) 50 nm

(C) 50 am (D) 50 Em

8. Which of the following gases can be used for storage of oil and fat
containing food items for a long time? 1

(A) Oxygen

(B) Nitrogen

(C) Carbon dioxide
(D) Sulphur dioxide

212/0S/2/204C 6 Ok
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T Td SR @E-YEIl 1 o {9 q% YRV % & foru, fmfafed 4 @ sA-w
N WIh H ST Hehdl 87

(A) SATaESH
(B) AregisH
(C) I ST33THATES
(D) HeHL SIE3THES

9. Which of the following is not a base of SI unit? 1

(A) kelvin (B) newton
(C) ampere (D) candela
frafafed § & ®H-91 NMERYE SI WS @ 8 ?
(A) <hfead (B) A
(©) (D) e

10. Find the derived SI units for the following physical quantities : 2
(a) Force
(b) Work

freferRea wifass Tl & == SI 9B F@ il
(P) s
(@) wH

11. What is meant by buoyant force? State the factors on which buoyant force
acting on a body depends at a given place. 2

AT g " R AI™ g7 9 HRE aaisy, o W R feu gu e W R g
T A A Iecrad g 1 g fiR s 2l
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12.

13.

14.

15.

16.

17.

With the help of an activity, show that the expansivity of different
materials is normally different.

T fspamehoa < HErEar 4 wmEse fo e uered =1 yaR g e-fe g 2)

State any two main uses of carbon dioxide.

HE SEATFAES & Dl a1l T W fafaw

What is molar mass? How is it different from molecular mass? What is the
molar mass of H,0?

HAIeR o9 1 27 I8 310k goqq™ ¥ ford TR f9 87 & 1 HIoR g9 o=
27

Describe two major deductions made by Darwin during his travel on the
Ship HMS Beagle.

gifed R 3199 To WHo THo SlTel -MHeh SIEISl ! AT o SR T &l Y@ STIHMI
H1 JUA FHIfC)

Deficiency of which vitamin causes anaemia? State the function and
sources of this vitamin.

Thieaar fopg foetfim <t <t & %R Bt 87 30 foefe & & 3R 9 sarsu|

Draw ray diagrams showing the image formation by (a) a concave mirror
and (b) a convex mirror, when the object is placed beyond the centre of
curvature of mirrors. An object is placed at a distance of 10 cm in front
of a convex mirror of focal length 20 cm. Find the position of the image.

forell () ofodel Ul AUT (@) 3IqG U I Uidtee ST g o foTu, wemtsr feRtur
e € Jafe foa qior & Shdl-55 § $© AUS g0 W W@ T Bl Hig o=
20 cm %IHH gl % Tk 3Iq1 U0 o @EA 10 cm g0 W W R 8| iafes i et
BICECAIE I
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18. Define atomic size. How does the atomic size change in a period and in a
group? Where would the element with largest atomic size be placed in a
(a) group and (b) period? 4

TTHTY] % TR (TTSH) ! uRTiya shifore| fepeft smmed qen wgg o wewmo) 1 3R form
TR uiEidd g 27 fpeht oft () anl # 3t (@) Hed H wEE &S BN BT A el
q hal [T TR ?

19. What is a functional group? Give two examples of functional group. Name
the functional groups present in the following compounds : 4

(@) CH,=CHCH,CH,
(b) CH,COCH,CH,CH,
(¢ CH,CH,CH,CH,CHO
(d) CH,CH,CH,COOH

foramefier wvg = B 27 TRl Tqg & &t Iereww v ffafea <ifieei # foremm
fiparsfict wmgt % T forfae :

(%) CH,=CHCH,CH,
(@ CH,COCH,CH,CH,
() CH,CH,CH,CH,CHO

(8) CH,CH,CH,COOH

20. How is an ionic bond formed? Explain the formation of sodium chloride

and magnesium oxide. 4
I AEET HY AT g7 HIfeAH FAse qon Ffifwm sAfemmse & a9 6 =men
i)

21. Describe any four adaptations in desert plants. 4

Wl # fohrdl aR TEgiidR TgEeH w1 aviF Hifv
[=] i []
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22. Describe an activity to show the factors on which friction between two
surfaces depends. State two advantages and two disadvantages of friction.
T foRameheTd g1 U guIse TR @ wagl W &= wwv fhe-fohe wRe R s 2l
Y o g W qeT q FHAl farau|

23. What are meant by eutrophication and biomagnification? Explain their roles
in water pollution.
AT (IReRSH) TAT o TEET § FT A 87 T FGUUT H k! {HehT hl AT
HiT)

24. With the help of suitable chemical equations, state any four chemical
properties of metals.
IUH THRIH FHIHT I TR 8§ 913l & $i3 9R qEEHs ey fafey)

25. With the help of a labelled diagram, describe two phases in which meiosis
is completed.
U AHifchd o <l TERAT § @ STETISA (IAON) 1 quid shifere, T st fawem
(frenfee) 90 e 2|

26. How is plaster of Paris manufactured? Write the chemical equation for the
reaction involved. Write any four uses of plaster of Paris.
TR 3Tk Ui w1 i o qe fRam Siar 27 @ geareht sifufan B wamt
Tty feIRgu| Wit 31Tk 9fE % @iE wR 3w fafe

27. Differentiate between organic manure and fertilizer.
S @rg (Freife @Wg) qen I § I Ty i)
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28.

29.

30.
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Draw the transverse section of a flower and label its different reproductive
organs. Describe the function of each reproductive organ. Differentiate
between bisexual and unisexual flowers.

fopelt g0 1 TRy e H ToF SAET qUn 38k fafie SW ST Wl AmifRa it
A% ST I %k B HT IUH Hifae| Ivferft aur wwferft g # R T il

State the postulates of Bohr’s model of atom. How could this model answer
the problems of stability of atom faced by Rutherford’s model? Show
diagrammatically the electron distribution of chlorine and potassium
atoms. (Atomic number of chlorine is 17 and potassium is 19)

TR % T Higd il @unem fafew| I8 Aied e % uied U U TS fRrdr #i
T 1 THIYH H8 T TA1 8 7 FARN AT TERRE T[S o gorgeq faawr ol ==
ENI TS| (FAIOA o1 WRHTY] ShHTeh 17 AT WISREH 1 WA s 19 )

What is meant by electromagnetic induction? Describe an activity to show
that a current is set up in a closed coil when an external magnetic field
passing through the coil changes. State the factors on which the amount
of current generated in the coil in this activity depends. Name two devices
which are based on the principle of electromagnetic induction.

fora-guhia S & w1 FfwrE 37w fhamhein % g 98 quisy fp W@ fdt e
Fechl T T a1t 18T FEhT &7 § iada BT 7, A1 39 Heoft # fRpa-uw et
Bt 81 37 BRI bl Fasy, 5 W 38 Fharha § Heelt ¥ Icaa gareht gm il
HA B G U (FIREAT) F AW FaEe, S feEd-geshE v % fagra W R
A 2
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